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Solubility #1

1.

Write the net ionic equation(s) for ﬁe reaction(s) when equal volumes of 0.2 M St(OH),
and 0.2 M Fe,(SO,); are mixed.
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Describe the equilibrium that exists in a saturated solution of BaSQy in contact with some
solid residue of BaSQ,. PeS Oy ey & gaj{‘ﬂ N 0"‘1”,)'

at equilibvinn the [Ba2*] o 4 [50,7] are Constont
In an experiment, 0.1 M AgNO; is added to 0.1 M NaCl, resulting in the formation of
a white precipitate. When 0.1 M Nal is added to this mixture, the white precipitate
dissolves and a yellow precipitate forms.
a) Write the formula and name for each of the following:
@) the white precipitate
A9C\ Silver oL\\om'dc,
(i)  the yellow precipitate
AgT  sllves iodide
(b) Write the net ionic equation to represent the formation of the more soluble

precipitate. —
P Agts Cio &> AgCl,
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A solution of Ba(NOj), is added to a solution of Na,COs3, resulting in the formation of

a white precipitate the reacts with HNO;.

(a) Write a net ionic equation to represent the formation of the white precipitate.
G'}:..\, bCOz e Balo

(b) Explain why the precipitat??eacts in HNO;.

Bacog,, * ZH Ly Bl * €Oy gy + WDy

Codsonatio remct ool acids.
A student is given three beakers, each containing 100 mL of solution. The first beaker
contains 0.20 M CaS; the second contains 0.20 M CuSOy; the third contains 0.20 M
Sr(OH),. The student is asked to select two solutions which, when combined, would
result in the formation of a mixture containing a single precipitate.
(a) Which two solutions should the student use?
C aS «nd S, (0H Ja

(b) Write the net ionic equation for the precipitation reaction.
>+
C(l «oq)
If a solution of calcium nitrate is added to a saturated solution of calcium sulphate, a
precipitate is observed to form. Explain why this occurs, including any relevant

equation(s) and identify the precipitate.
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Write an equation that describes é satirated solution of NaCl.

No.Ci m@_—)e Na! ey Cleeg,
A solution containing ABT, NH,* and Mg+ ions is added to a solution containing S,
CI" and OH" ions. Identify the ions that do not form a precipitate.

Nl—h, + Ci-
Write an equation that describes the equilibrium present in a saturated solution of
Cuy(POy),. S P
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A 1.0 M solution of sodium sulphide is added to a 1.0 M solution of copper(II) chloride
resulting in the formation of a precipitate.
(a)  Identify the precipitate.
(b) Write the complete ionic equation for the reaction.
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(©) Identify all spectator ions.
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Identify a salt that could be added to a saturated solution of BaSO, that would result in
more solid barium sulphate forming. v :
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Write an equation that describes a saturated solution of magnesium hydroxide.
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When solid Ca(NOs), is added to a saturated solution of MgCO;, more MgCO;
dissolves. Explain.

The Ca" reacts with the CO2™ 4 fovr soitd Cacoy. Thy
decrecnea Hha L(,O_,J o~ o Njcog drs.wlws.

A student mixes equal volumes of 0.20 M Na,CO; and 0.20 M Ba(NO;),, forming a

white precipitate.

(a) Write the net ionic equation for the precipitation reaction.
’BCLJ ¢ Cosz-uup A 3"»(93 (s>

(b) Explain why the precxpitate dissolves when HCl is added.
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Write an equation that represents the solubility equilibrium of a saturated solution of
barium sulphate.
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